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QUESTION 1

What is the maximum amount of memory and IFLs on a LinuxONE Rockhopper II? 

A. 8TB memory and 30 IFLs 

B. 3TB memory and 15 IFLs 

C. 2TB memory and 10 IFLs 

D. 4TB memory and 20 IFLs 

Correct Answer: A 

Reference: https://www-01.ibm.com/common/ssi/ShowDoc.wss?docURL=/common/ssi/rep_sm/2/760/
ENUS3907-_h02/index.htmlandrequest_locale=en 

 

QUESTION 2

Which solution will affect the ability of the business to continue to run if a disaster should strike? 

A. On/Off Capacity on Demand (OOCoD) 

B. Capacity for Planned Event (CPE) 

C. Customer Initiated Upgrade (CIU) 

D. Capacity Backup (CBU) 

Correct Answer: C 

 

QUESTION 3

Which statement regarding IT Economics Studies is correct? 

A. Depending on the scope of the study, there may be charges for the customer. 

B. The IT Economics Practice is present in North America only. 

C. An IT Economics study focuses on business value, technical requirements, and cost. 

D. The customer will receive a final report, an executive summary, and a business case for a small charge. 

Correct Answer: C 

Reference: https://www.ibm.com/it-infrastructure/services/it-economics 

 

QUESTION 4
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A customer purchased a new z14 3906-M02. They want the ability to add temporary CP capacity on short notice for a
spike in production work. 

What authorization feature should be configured? 

A. OOCoD 

B. CPE 

C. CBU 

D. CDP 

Correct Answer: A 

 

QUESTION 5

A z14 customer has expressed interest in deploying firmware and software appliances on IBM Z. 

What feature will enable the customer to achieve their goal? 

A. Linux on IBM Z running under z/VM 

B. IBM Db2 Analytics Accelerator (iDAA) on IBM Z 

C. zHyperLink 

D. Secure Service Container (SSC) 

Correct Answer: D 

Reference: https://www-01.ibm.com/support/docview.wss? uid=isg2bb79df265313634d85258088005188e3andaid=1 
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